2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@® 8.192 @5.736 ® 5.878 @ 8.09 ® 8.29

/C = 55° o|B 2
x =10 X cos 55° = 10 x 0.5736 = 5.736
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S Atol] A&7} 21 m o], Hjo| A % “’H} g
Se] H7)E viEr 2 Zhe] 27171 -21m -

15° o] e, S| Eol=?

@ tanl5°m <@>21tan15°m ® sinl5°m
@ 21sinl5°m ® cosl5°m

tan 15° = 2—)“1 o]B & x = 21 tan15°m ©|T}.




0°<A<45° D of, /(tanA + 1)° 4+ /(tan 45° - tan A)? S ek
sfod e,

> E

> =g 2

0°< A <45°0]|B2 () < tanA < 1

\/(tanA +1)%+ \/(tan 45° — tan A)® = tan A + 1 + tan 45° —
tanA =1+ tan45° = 2




o} AFZtH| o] EE 0] 83519 sin15° 4 tan 16° — cos 14° 9] F-&
oot

e A

Ql(sin) FARl(cos) | EFHIE(tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867

>
[> HE T —0.4248

sin15° —cos14° + tan 16 °
= 0.2588 — 0.9703 + 0.2867 = —0.4248




o2 2"} Zol «C = 90° <
77+ ABC oA AC = 36,
an ) o3, 50 1 5201
o of, AD 9] ZolE F5lofet.
@ 5@ @ 10m B i m
® 6V12 @ 513
(@)1%/1_
AABC oA
36 3 —
tan B = — 4_1 .

CD:Qﬁ:M

wetA AADC o] A]
AD = V362 + 242 =

V1872 = 12 V13 o]tk
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/ACB = 30° °]E& DE = EF xsin30°
cos30° =3

oBEFC 7} Ao 22 CF = 23
rr}aw Pk} she 4215 0] Hale

V:§>< V3 x 3x2V3 = 9(cm?) ot}

~—




ol%

sin(3x-30°) = 2 & WEAF|E x o] G2 Fobofeh. (& 07 < x <

90° )

o

> E.

L
o

30°

v V. V
0x
i

0
m

50°

sin(3x - 30°) = ‘/75 — sin 60° = sin 120°

3x — 30° = 60°, 3x — 30° = 120°
sox = 30°,50°
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A Aol A5 Arloje} o 1
S0 AAAE oL Zate] Ho
7ba Qi Aol Al 20km 2
A% 950 HFgko 2 7ha Setol =

A4 4km B GE5& 350 Yo
ZVehel A Aol A S A 1A1%F
30 F-2f drlo|e} fegho] Aol <]
=7

@® Vilkm @ 2+V13km ® 3V15km
@ 5v21km (@)6\/ﬁkm

_20><15 30( m)
(1.5 A1 7F Z¢F 4=gto] 7} 7+ A=)
=4x15=6 (km)

ol
=
2

19} ==ol7t = A-= 44 B, C 2
H=06cos60°=3 (km)
. HB =30 -3 =27 (km)
CH = 6sin60° = 3V3 (km)
. BG = v/HB? + CH2
272 + (3V3)?
= 6 V21 (km)

Axlo
AH




